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RooFit vs TF fit results

* RooFit
» Get PDF value from Shower histogram (linear interpolated)
 Free parameter 0 (-/4 ~ n/4)

- TF2 fit
« Parametrized PDF
 Free parameter 0 (-7/4 ~ n/4), height
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RooFit vs TF fit results (theta)
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RooFit vs TF fit results (theta)
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RooFit vs TF fit results (theta)

RooFIt
TF fit
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RooFit vs TF fit results (theta)

RooFIt
TF fit
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RooFit vs TF fit results (theta)
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RooFit vs TF fit results vs Limited ran

450

400

350

500

400

10 15 20 25 30 35 40 45 50
6 (degree)

0 :5deg
¢ : 180 deg

10 15 20 25 30 35 40 45 50
6 (degree)

6 :5deg
¢ : 225 deg

10 15 20 25 30 35 40 45 50
6 (degree)

RooFIt

TF fit

0 10 15 20 25 30 35 40 45 50

6 (degree)
450
400

0 :5deg
350 ¢ : 270 deg

300
250
200
150
100
50

00 10 15 20 25 30 35 40 45 50

6 (degree)

500

400

300

200

100

0 10 15 20 25 30 35 40 45 50
6 (degree)
500
400 = 6 :5deg
r ¢ : 0deg
300 -
200 |—
100 1
00 10 15 20 25 30 35 40 45 50
6 (degree)
500
400 0 :5deg
¢ : 315 deg

25

30

35

40 45 50
6 (degree)

ge

13



ooFit vs TF fit results VS Hmited range

TF fit
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RooFit vs TF fit results VS Hmited range

TF fit
+5° range (original method)
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RooFit vs
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RooFit vs TF fit results VS Hmited range

TF fit
+5° range (original method)
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Summary

« RooFit result seems worse than TF2 fit function.
« Even 1t’s not a fitting with limited range

» Need to check
» Fitting with fine segmentation (or uniform layer)
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3x5 Clustering, 5 deg
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3x5 Clustering, 10 deg
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3x5 Clustering, 15 deg
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3x5 Clustering, 20 deg
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3x5 Clustering, 25 deg
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